# A Sufficient Condition for Restoring Sparse Vectors from \$\ell\_1-\ell\_2\$-minimization with Cumulative Coherence

Youwei Xie<sup>1</sup>, Meijiao Zhang<sup>2</sup>, and Shaohua Xie<sup>3</sup>

<sup>1</sup> Quanzhou University of Information Engineering <sup>2</sup>Quanzhou University of Information Engineering <sup>3</sup>Sun Yat-Sen University

February 2, 2023

### Abstract

This paper focuses on the compressed sensing  $\left| -1-\right| - \left| -2-\right|$  minimization model and develops new bounds on cumulative coherence  $\left| -1(s)\right|$ . We point out that if cumulative coherence  $\left| -1(s)\right|$  satisfies (2) or (11), then the sparse signal can stably recover in noise model and exactly recover in free noise by  $\left| -1-\right| - \left| -2\right|$ .

# A Sufficient Condition for Restoring Sparse Vectors from $\ell_1 - \ell_2$ -minimization with Cumulative Coherence

Youwei Xie \* Meijiao Zhang<sup>†</sup> Shaohua Xie<sup>‡</sup>

### Abstract

This paper focuses on the compressed sensing  $\ell_1 - \ell_2$ -minimization model and develops new bounds on cumulative coherence  $\mu_1(s)$ . We point out that if cumulative coherence  $\mu_1(s)$  satisfies (2) or (11), then the sparse signal can stably recover in noise model and exactly recover in free noise by  $\ell_1 - \ell_2$ -minimization model. .

**Keywords:**  $\ell_1 - \ell_2$ -minimization, Cumulative Coherence, Sparse Signal, Compressed Sensing, Exactly Recover.

#### Introduction 1

Compression sensing is mainly used to recover high-dimensional sparse vectors from low dimensional vectors. Its mathematical model can be expressed as  $\ell_0$ minimization model:

$$\min_{x \in \mathbb{R}^n} \|x\|_0 \quad subject \quad to \quad y - Ax \in B,$$

where  $A \in \mathbb{R}^{m \times n} (m \ll n)$ , is the measurement matrix,  $y \in \mathbb{R}^m$  is the measurement vector,  $x \in \mathbb{R}^n$  is the sparse vector to be recovered,  $||x||_0$  calculate the number of nonzero components in  $x, B = \{0\}$  indicates a noiseless case, and  $B = \{\epsilon\}$  indicates a noise case.

The  $\ell_0$ -minimization model is NP-hard, and thus computationally not feasible in high-dimensional sets [2]. Fortunately, however, scholars found that the  $\ell_1$ -minimization model can solve the  $\ell_0$ -minimization model well when measurement matrix meets certain conditions [1, 2, 5].

Although the  $\ell_1$ -minimization model yields considerable results [1, 2, 5], it is not exactly equivalent to the  $\ell_0$ minimization problem [4]. Hence, the  $\ell_1 - \ell_2$ -minimization model has been proposed to replace the  $\ell_1$ -minimization model in the case where the  $\ell_1$ -minimization model does not execute well. The  $\ell_1 - \ell_2$ -minimization model can be expressed as

$$\min_{x \in R^n} \|x\|_1 - \|x\|_2 \quad subject \ to \quad \|y - Ax\|_2 \le \epsilon \quad (1)$$

where  $||x||_1 = \sum_{i=1}^n |x_i|$ ,  $||x||_2 = \sqrt{\sum_{i=1}^n |x_i|^2}$ . In the literature, such as the  $\ell_1$ -minimization model, the  $\ell_1 - \ell_2$ -minimization model is also solved based on the null space property, coherence, restricted orthogonality constraints [2], and instruction model is marked by the statement of the statement stants [3], and restricted isometry property [3].

This paper continues to study the  $\ell_1 - \ell_2$ -minimization model. The main contribution of our study is that we used the cumulative coherence to solve the  $\ell_1 - \ell_2$ -minimization model. We point out that if  $\mu_1(2s-1)$  combines with  $\mu_1(s-1)$ 1) satisfies (2) or cumulative coherence satisfies (11) then the  $\ell_1 - \ell_2$ -minimization model exactly recovers the s-sparse

\*General Education Center, Quanzhou University of Information Engineering, 249 Bo Dong Lu, Quanzhou, 362100, China.  $({\tt 103750134@qq.com}).$ 

<sup>†</sup>Corresponding Author, College of Software, Quanzhou University of Information Engineering, 249 Bo Dong Lu, Quanzhou, 362100, China. (80022046@qq.com).

<sup>‡</sup>School of Mathematics,  $\operatorname{Sun}$ Yat-Sen University, 135 Xin Gang Xi Lu, Guangzhou, 510275, China. (xieshh28@mail2.sysu.edu.cn).

signal in the noiseless case and stable recovery in the noise

We introduce related concepts in Section I. In Section II, we present our main results and we conclude the paper in Section III.

Notations: For  $x \in \mathbb{R}^n$ ,  $||x||_{\infty} = \max_{i \in [n]} |x_i|$ , where [n] = $\{1, 2, 3, \dots, n\}$ .  $s \in R$  and  $x_{max(s)}$  is defined as the vector x with all but the largest s entries in absolute value set to zero, and  $x_{-max(s)} = x - x_{max(s)}$ . For  $y \in \mathbb{R}^n$ ,  $\langle x, y \rangle =$  $\sum_{i=1}^{n} x_i y_i$ .  $T \subset [n], x_T$  is defined as the vector  $(x_T)_i = x_i$ , if  $i \in T$  and  $(x_T)_i = 0$  otherwise.

#### 2 Preliminary

**Definition 1 ( [2])** Let  $A \in \mathbb{R}^{m \times n}$  be a matrix with  $\ell_2$ normalized columns  $A_1$ , . . ,  $A_n$  (that is,  $||A_i||_2 = 1$ for all i = 1, ..., n ). The cumulative coherence function  $\mu_1(s) = \mu_1(A, s)$  of matrix A is defined for  $s \in [n-1]$  by

$$\mu_1(s) = \max_{i \in [n]} \max\{\sum_{j \in S} |\langle A_i, A_j \rangle|, S \subset [n], card(S) = s, i \notin S\}$$

When the cumulative coherence of a matrix grows slow-ly, we can informally say that the dictionary is quasiincoherent.

The following lemmas are needed in the proof of our main results and we list them below.

Lemma 1 ([2]) Let  $A \in \mathbb{R}^{m \times n}$  be a matrix with  $\ell_2$ normalized columns and  $s \in [n]$ . For all s-sparse vectors  $x \in \mathbb{R}^n$ ,

$$(1 - \mu_1(s - 1)) \|x\|_2^2 \le \|Ax\|_2^2 \le (1 + \mu_1(s - 1)) \|x\|_2^2.$$

**Lemma 2** ([5]) Suppose that x is s-sparse and y is tsparse; then,

$$|\langle Ax, Ay \rangle - \langle x, y \rangle| \le \mu_1 (s + t - 1) ||x||_2 ||y||_2.$$

Moreover, if  $supp(x) \cap supp(y) = \emptyset$ , then

$$|\langle Ax, Ay \rangle| \le \mu_1 (s+t-1) ||x||_2 ||y||_2.$$

Lemma 3 ([1]) Let q and r be positive integers satisfying r < q < 3r. Descending chain of real numbers

$$a_1 \ge a_2 \ge \cdots a_r \ge b_1 \ge \cdots \ge b_q \ge c_1 \cdots \ge c_r \ge 0$$

satisfies

$$\sqrt{\sum_{i=1}^{q} b_i^2 + \sum_{i=1}^{r} c_i^2} \le \frac{\sum_{i=1}^{r} a_i + \sum_{i=1}^{q} b_i}{\sqrt{q+r}}.$$

#### Main result 3

In this section, we present the main results. Theorem 1 shows that when  $\mu_1(3s-1)$  combines with  $\mu_1(2s-1)$  satisfy some conditions, the  $\ell_1 - \ell_2$ -minimization model can stably recover an unknown signal.

**Theorem 1** Suppose that

$$\mu_1(3s-1) + \left(\frac{\sqrt{s}+1}{\sqrt{2s}-1}\right)^2 \mu_1(2s-1) < 1 - \left(\frac{\sqrt{s}+1}{\sqrt{2s}-1}\right)^2, \quad (2)$$

then the solution  $\overline{x}$  of  $\ell_1-\ell_2\text{-minimization}$  model and the original signal x satisfies

$$\|\overline{x} - x\|_2 \le \frac{(4 + 2\sqrt{2})s}{a_1}\epsilon + \frac{a_3}{a_2}\|x_{S_0^c}\|_1$$

 $\begin{array}{rll} where & a_1 &=& (2s & - & \sqrt{2s})\sqrt{1 - \mu_1(3s - 1)} & - \\ (\sqrt{2s} & + & \sqrt{2s})\sqrt{1 + \mu_1(2s - 1)}, & a_2 &=& (2s & - \\ \sqrt{2s})\sqrt{1 - \mu_1(3s - 1)} & - & (\sqrt{2s} & + & \sqrt{2s})\sqrt{1 + \mu_1(2s - 1)}, \\ a_3 &= 2\sqrt{2s}\sqrt{1 - \mu_1(3s - 1)} + 2\sqrt{2s}\sqrt{1 + \mu_1(2s - 1)} \end{array}$ 

**Proof:** Set  $S_0$  as the indices of the *s* largest entries of x,  $S_1$  are the indices of the *t* largest entries of  $h_{S_0^c}$ ,  $S_2$  are the indices of the next *t* largest entries of  $h_{S_0^c}$ , and so on.

Firstly, we know that the kth largest value of  $h_{S_0^c}$  obeys

$$|h_{S_0^c}|_k \leq ||h_{S_0^c}||_1/k$$

Set  $S_{01} = S_0 \cup S_1$ ; therefore,

$$\|h_{S_{01}^c}\|_2^2 \le \|h_{S_0^c}\|_1^2 \sum_{k \ge t+1} 1/k^2 \le \|h_{S_0^c}\|_1^2/t.$$
(3)

On the other hand, set  $x = \overline{x} - h$ , then we have

$$||x||_1 - ||x||_2 \ge ||x+h||_1 - ||x+h||_2.$$

Thus,

 $||h||_{2} + ||x||_{1} \ge ||x+h||_{2} - ||x||_{2} + ||x||_{1} \ge ||x+h||_{1}.$ 

Additionally,

$$\begin{aligned} \|x+h\|_{1} &= \|(x+h)_{S_{0}}\|_{1} + \|(x+h)_{S_{0}^{c}}\|_{1} \\ &\geq \|x_{S_{0}}\|_{1} - \|h_{S_{0}}\|_{1} + \|h_{S_{0}^{c}}\|_{1} - \|x_{S_{0}^{c}}\|_{1}. \end{aligned}$$

Combining the above two inequalities yield

 $\|h_{S_0^c}\|_1 \le \|h_{S_0}\|_1 + 2\|x_{S_0^c}\|_1 + \|h\|_2.$ The inequalities (4) and (3) give

$$\begin{aligned} \|h_{S_{01}^c}\|_2 &\leq (\|h_{S_0}\|_1 + 2\|x_{S_0^c}\|_1 + \|h\|_2)/\sqrt{t} \\ &\leq \sqrt{s/t}\|h_{s_0}\|_2 + (2\|x_{S_0^c}\|_1 + \|h\|_2)/\sqrt{t}, \end{aligned}$$

and thus

$$\begin{split} \|h\|_{2} &\leq \|h_{S_{01}}\|_{2} + \|h_{S_{01}^{c}}\|_{2} \\ &\leq (1 + \sqrt{s/t}) \|h_{S_{01}}\|_{2} + 2\|x_{S_{0}^{c}}\|_{1} / \sqrt{t} + \|h\|_{2} / \sqrt{t}. \end{split}$$

This yields

$$\|h\|_{2} \leq \frac{\sqrt{t} + \sqrt{s}}{\sqrt{t} - 1} \|h_{S_{01}}\|_{2} + \frac{2}{\sqrt{t} - 1} \|x_{S_{0}^{c}}\|_{1}.$$
 (5)

From Lemma 1, we have

$$\begin{aligned} \|Ah\|_{2} &= \|A_{S_{01}}h_{S_{01}} + \sum_{i\geq 2} A_{S_{i}}h_{S_{i}}\|_{2} \\ &\geq \|A_{S_{01}}h_{S_{01}}\|_{2} - \|\sum_{i\geq 2} A_{S_{i}}h_{S_{i}}\| \\ &\geq \|A_{S_{01}}h_{S_{01}}\|_{2} - \sum_{i\geq 2} \|A_{S_{i}}h_{S_{i}}\|_{2} \\ &\geq \sqrt{1 - \mu_{1}(s+t-1)} \|h_{S_{01}}\|_{2} - \sqrt{1 + \mu_{1}(t-1)} \sum_{i\geq 2} \|h_{S_{i}}\|_{2} \end{aligned}$$

$$(6)$$

Now, we note that for  $i \geq 1$  and  $k \in S_{i+1}$ ,

$$|h_k| \le ||h_{S_i}||_1/t,$$

$$\|h_{S_{i+1}}\|_2^2 \le \|h_{S_i}\|_1^2/t$$

This and inequality (4) give

$$\sum_{i\geq 2} \|h_{S_i}\|_2 \leq \sum_{i\geq 1} \|h_{S_i}\|_1 / \sqrt{t} = \|h_{S_0^c}\|_1 / \sqrt{t} \leq \sqrt{s/t} \|h_{S_0}\|_2 + 2\|x_{S_0^c}\|_1 / \sqrt{t} + \|h\|_2 / \sqrt{t}.$$
(7)

Combining (6) and (7), we obtain:

$$\begin{split} \|Ah\|_{2} &\geq (\sqrt{1-\mu_{1}(s+t-1)} - \sqrt{s/t}\sqrt{1+\mu_{1}(t-1)}) \|h_{S_{01}}\|_{2} \\ &- \frac{2\sqrt{1+\mu_{1}(t-1)}}{\sqrt{t}} \|x_{S_{0}^{c}}\|_{1} - \frac{\sqrt{1+\mu_{1}(t-1)}}{\sqrt{t}} \|h\|_{2}. \end{split}$$

If

(4)

then

$$\sqrt{1 - \mu_1(s + t - 1)} - \sqrt{s/t}\sqrt{1 + \mu_1(t - 1)} > 0, \qquad (8)$$

then, by combining  $\|Ah\|_2 \leq 2\epsilon$  and the above two inequalities, we have

$$\|h_{S_{01}}\|_{2} \leq \frac{1}{a_{4}} (2\epsilon + \frac{2\sqrt{1+\mu_{1}(t-1)}}{\sqrt{t}} \|x_{S_{0}^{c}}\|_{1} + \frac{\sqrt{1+\mu_{1}(t-1)}}{\sqrt{t}} \|h\|_{2})$$
  
where  $a_{4} = \sqrt{1-\mu_{1}(s+t-1)} - \sqrt{s/t}\sqrt{1+\mu_{1}(t-1)}.$   
If

$$(t - \sqrt{t})\sqrt{1 - \mu_1(s + t - 1)} - (\sqrt{st} + \sqrt{t})\sqrt{1 + \mu_1(t - 1)} > 0$$
(9)

it follows from the above two inequalities and inequality (5) that

$$\|h\|_{2} \leq \frac{2t + 2\sqrt{st}}{(t - \sqrt{t})\sqrt{1 - \mu_{1}(s + t - 1)} - (\sqrt{st} + \sqrt{t})\sqrt{1 + \mu_{1}(t - 1)}}\epsilon + \frac{2\sqrt{t}\sqrt{1 - \mu_{1}(s + t - 1)} + 2\sqrt{t}\sqrt{1 + \mu_{1}(t - 1)}}{(t - \sqrt{t})\sqrt{1 - \mu_{1}(s + t - 1)} - (\sqrt{st} + \sqrt{t})\sqrt{1 + \mu_{1}(t - 1)}}\|x_{S_{0}^{c}}\|_{1}}$$
(10)

a. . a / ...

It is easy to know that inequality (9) is sufficient for inequality (8), and inequality (9) is equivalent to

$$\mu_1(s+t-1) + \left(\frac{\sqrt{s}+1}{\sqrt{t}-1}\right)^2 \mu_1(t-1) < 1 - \left(\frac{\sqrt{s}+1}{\sqrt{t}-1}\right)^2.$$

Condition (2) ensures that the inequality above holds when t = 2s. Hence, from inequality (10), we can get the conclusion of the theorem.

Sion of the theorem.  $\Box$ The following theorem provides another condition that can ensure stable recovery of unknown signals by  $\ell_1 - \ell_2$ -minimization model. This condition is accompanied through additional parameters. We can choose appropriate parameters to meet our requirements. The following lemma is needed in the proof of the following theorem.

**Lemma 4** If positive integer  $a, b \ge 2$ , s satisfies

$$\mu_1(s+a-1) + \frac{\sqrt{s+1}}{\sqrt{b-1}}\mu_1(s+a+b-1) \le 1$$

then

$$b - \sqrt{b} - (b - \sqrt{b})\mu_1(s + a - 1) - (\sqrt{sb} + \sqrt{b})\mu_1(s + a + b - 1) \ge 0,$$

and

$$1 - \mu_1(s + a - 1) - \sqrt{\frac{s}{b}}\mu_1(s + a + b - 1) \ge 0.$$

This lemma is simple, therefore we can ignore its proof.

**Theorem 2** Suppose that

$$\mu_1(s+a-1) + \frac{\sqrt{s+1}}{\sqrt{b}-1}\mu_1(s+a+b-1) \le 1$$
(11)

holds for some positive integers a and b, satisfying  $2a \leq b \leq 4a$ . Then, the solution  $\overline{x}$  of  $\ell_1 - \ell_2$ -minimization model and the original signal x satisfy

$$\|\overline{x} - x\|_2 \le \frac{2(b + \sqrt{sb})\sqrt{1 + \mu_1(s + a - 1)}}{c_1}\epsilon + \frac{c_2}{c_1}\|x_{-max(s)}\|_{1}.$$

where  $c_1 = b - \sqrt{b} - (b - \sqrt{b})\mu_1(s + a - 1) - (\sqrt{sb} + \sqrt{b})\mu_1(s + a - 1)$ a+b-1),  $c_2 = 2\sqrt{b}-2\sqrt{b}\mu_1(s+a-1)+2\sqrt{b}\mu_1(s+a+b-1)$ .

**Proof:** Without a loss of generality, we assume the first s coordinates of x are the largest in magnitude. Making a rearrangement if necessary, we may also assume that

$$|h(s+1)| \ge |h(s+2)| \ge \cdots$$

Set  $T_0 = \{1, 2, \dots, s\}, T_* = \{s + 1, s + 2, \dots, s + a\}$  and  $T_i = \{s + a + (i - 1)b + 1, \dots, s + a + ib\}, i = 1, 2 \dots$ , with the last subset of size less than or equal to b. Let  $h_0 = h_{T_0}$ ,  $h_* = h_{T_*}$  and  $h_i = h_{T_i}$  for  $i \ge 1$ .

First, we divide each vector  $h_i$  into two pieces. Set  $T_{i1} =$  $\{s + a + (i - 1)b + 1, \dots, s + ib\}$  and  $T_{i2} = T_i - T_{i1} = \{s + 1 + ib, \dots, s + a + ib\}$ . We note that  $|T_{i1}| = b - a$  and  $|T_{i2}| = a$  for all  $i \ge 1$ . Let  $h_{i1} = h_{T_{i1}}$  and  $h_{i2} = h_{T_{i2}}$ . Note that  $a \le b-a \le 3a$ . Applying Lemma 3 to the vectors  $h_*, h_{11}, h_{12}$  and  $h_{(i-1)2}, h_{i1}, h_{i2}$  for  $i = 2, 3, \cdots$ , we obtain,

$$\begin{split} \|h_1\|_2 &\leq \frac{\|h_*\|_1 + \|h_{11}\|_1}{\sqrt{b}}, \|h_2\|_2 \leq \frac{\|h_{12}\|_1 + \|h_{21}\|_1}{\sqrt{b}}, \cdots, \\ \|h_i\|_2 &\leq \frac{\|h_{(i-1)2}\|_1 + \|h_{i1}\|_1}{\sqrt{b}}, \cdots. \end{split}$$

Additionally, inequality (4) holds. Cauchy-Buniakowsky-Schwarz inequality and (4) yield

$$\sum_{i\geq 1} \|h_i\|_2 \leq \frac{\|h_*\|_1 + \sum_{i\geq 1} \|h_i\|_1}{\sqrt{b}} = \frac{\|h - h_0\|_1}{\sqrt{b}}$$

$$\leq \frac{\|h_0\|_1 + 2\|x_{-max(s)}\|_1 + \|h\|_2}{\sqrt{b}}$$

$$\leq \sqrt{\frac{s}{b}} \|h_0\|_2 + \frac{2\|x_{-max(s)}\|_1 + \|h\|_2}{\sqrt{b}}$$

$$\leq \sqrt{\frac{s}{b}} \|h_0 + h_*\|_2 + \frac{2\|x_{-max(s)}\|_1 + \|h\|_2}{\sqrt{b}}.$$
(12)

From Lemmas 1, 2, and (12), we have

$$\begin{aligned} |\langle Ah, A(h_{0} + h_{*})\rangle| \\&= |\langle A(h_{0} + h_{*}), A(h_{0} + h_{*})\rangle + \sum_{i \geq 1} \langle Ah_{i}, A(h_{0} + h_{*})\rangle| \\&\geq (1 - \mu_{1}(s + a - 1)) \|h_{0} + h_{*}\|_{2}^{2} \\&- \sum_{i \geq 1} \mu_{1}(s + a + b - 1) \|h_{0} + h_{*}\|_{2} \|h_{i}\|_{2} \\&\geq \|h_{0} + h_{*}\|_{2} ((1 - \mu_{1}(s + a - 1)) - \sqrt{\frac{s}{b}} \mu_{1}(s + a + b - 1))\|h_{0} + h_{*}\|_{2} - \mu_{1}(s + a + b - 1) \frac{2\|x_{-max(s)}\|_{1} + \|h\|_{2}}{\sqrt{b}})$$
(13)

Additionally,  $||Ah||_2 = ||A(\overline{x} - x)||_2 \le ||A\overline{x} - y||_2 + ||Ax - y||_2$  $y\|_2 \leq 2\epsilon.$  Combining Cauchy–Buniakowsky–Schwarz inequality and Lemma 1 yields

$$\begin{aligned} |\langle Ah, A(h_0 + h_*)\rangle| &\leq ||Ah||_2 ||A(h_0 + h_*)||_2 \\ &\leq 2\epsilon \sqrt{1 + \mu_1(s + a - 1)} ||h_0 + h_*||_2. \end{aligned}$$
(14)

Combining (13), (14), (11) and Lemma 4 give

$$\|h_0 + h_*\|_2 \le \frac{2\epsilon\sqrt{1 + \mu_1(s + a - 1)}}{1 - \mu_1(s + a - 1) - \sqrt{\frac{s}{b}}\mu_1(s + a + b - 1)} + \frac{\mu_1(s + a + b - 1)\frac{2\|x_{-max(s)}\|_1 + \|h\|_2}{\sqrt{b}}}{1 - \mu_1(s + a - 1) - \sqrt{\frac{s}{b}}\mu_1(s + a + b - 1)}.$$

Therefore, the above inequality and (12) produce

$$\begin{split} \|h\|_{2} &\leq \|h_{0} + h_{*}\|_{2} + \sum_{i \geq 1} \|h_{i}\|_{2} \\ &\leq (1 + \sqrt{\frac{s}{b}})\|h_{0} + h_{*}\|_{2} + \frac{2\|x_{-max(s)}\|_{1} + \|h\|_{2}}{\sqrt{b}} \\ &\leq ((1 + \sqrt{\frac{s}{b}})\frac{\mu_{1}(s + a + b - 1)}{c_{4}} + 1)\frac{2\|x_{-max(s)}\|_{1} + \|h\|_{2}}{\sqrt{b}} + \\ &(1 + \sqrt{\frac{s}{b}})\frac{2\epsilon\sqrt{1 + \mu_{1}(s + a - 1)}}{c_{4}}. \end{split}$$

where  $c_4 = 1 - \mu_1(s + a - 1) - \sqrt{\frac{s}{b}}\mu_1(s + a + b - 1).$ Simplifying the above inequality, from (11) and Lemma 4, We can get the conclusion of the theorem.  $\square$ 

Theorem 2 and 1 naturally leads to the following conclusion.

**Theorem 3** Assume that the cumulative coherence of the measurement matrix satisfies condition (2) or (11), and  $\epsilon =$ 0 in  $\ell_1 - \ell_2$ -minimization model, then any s-sparse vector can be accurately recovered through  $\ell_1 - \ell_2$ -minimization model.

#### Conclusion 4

From this paper, we find that based on some condition of cumulative coherence, the  $\ell_1 - \ell_2$ -minimization model can exactly recover s-sparse signals in noiseless cases and stably recover s-sparse signals in the noise cases.

## DECLARATIONS

The authors have no relevant financial or non-financial interests to disclose. All authors contributed to the study conception and proof. The authors declare that we do not have any commercial or associative interest that represents a conflict of interest in connection with the work submit-ted. This study focuses on theoretical analysis and does not involve ethical issues. All data generated or analysed during this study are included in this published article. The corresponding authors of this paper is Meijiao Zhang.

## References

- [1] T.T. Cai, L. Wang, G. Xu. Shifting inequality and recovery of sparse signals. IEEE Transactions on Signal Processing, 2010, 58(3):1300-1308.
- [2] S.Foucart, H.Rauhut, A mathematical introduction to compressive sensing. Applied and Numerical Harmon-ic Analysis Series, New York: Birkh auser/Springer, 2013.
- [3] W.D. Wang, J.J. Wang. Improved sufficient condition of  $\ell_{1-2}$ -minimisation for robust signal recovery. Electronics Letters, 2019, 55(22):1199-1201.
- [4] Y.B. Zhao. Equivalence and strong equivalence between the sparsest and least  $\ell_1$ -norm nonnegative solutions of linear systems and their applications. Journal of the Operations Research Society of China, 2014, 2(2):171-193.
- [5] L. Peng, W.G. Chen. Signal recovery under cumulative coherence. Journal of Computational and Applied Mathematics, 2019, 346(15):399-417.